Name: KEY Period:

Electricity Test Review

Use this review as well as your notes, quizzes, and labs from this unit to help you prepare for your test.

1.
2.

Marge rubs a rubber balloon on her dog’s hair, causing the balloon to become negatively charged.

a. The balloon ‘_‘j aired (gained/lost) electrons (electrons/protons).
b. The dog’s hair lost (gained/lost) clectrong (electrons/protons). -

Opposite charges qtteac f , and like charges f‘q“é’/ . 1
(ALt

According to Coulomb’s Law, what would happen to the Force between two charges if the distance
between them (r) increased? (Would it increase or decrease?)
( /Va/c’; g 3

Faka®s  f wodd decresse.
(\ &
In a series circuit, (U(/¢€ At (current/voltage) is constant, and in a parallel circuit,
Voitad € (current/voltage) is constant.

What is Ohm’s Law? B v (N://e; Py 7
\/ TR (Of Tz .
a. What would happen to the current in a circuit if the voltage increased?
current
Tt wodd facreese
b. How would the current in a circuit be affected if the resistance increased?
T+ wodd 0_@[@.@
An atom has 9 electrons and 7 protons. What is the net charge on the atom? /
(Neteo 79 3)
(-7)r 7 =
Two identical metal spheres are given a charge of -2 and a charge of +10. If the two spheres were /d]/
brought together, what would the final charge be on each? J Cmfjﬂ #eet ta uddle
f [ ! { ——f—t l { l J/
A charge of 10 uC is placed in an electric field so that the force exerted on it is 9.5 Newtons. What is K
the magnitude of the strength of the electric field? /: - E o - ﬁi_ (/V; {es pj 5/
(O ) ¢ o a - oret
ul= (Ox0™C 7137(/0)(/0@)5 ol

E 9.5 x /05/‘//4(& 950,000

A light bulb has a resistance of 8Q and is connected to a 12-Volt battery. How much current is
running through the bulb?

=T £ (/Va“}es P9 7)
100 fﬂ

10. A 1,500 uF capacitor is connected to a 12-Volt battery. How much charge is stored in the capacitor?

~ |SOOX(G (" , C;' -
1900,«4)— o 6\ (/500&(0 (/ol (Nb/‘j‘gq

é = /«
]’\C/:O:O /5/(;0@!'0/14437
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Electricity Test Review

11. What is an electrical conductor and what is an insulator? Give one example of each. (407(65 /9 "))

—Cordoctor — AHlavs eea(“aj Yo {low Fhl aj[\ N @c&j chm/,y{@a mefaf

, rbber,
~Tasdafor = 57((0/176 resésts  fhe Flew of @/ﬁc{zzcc;(jcezcavtr//ez /5/@;;,/
‘ (oo

12. Sketch an example of a...
c. rcuit with a power source and that has 3 resistors and 1 switch between the 1% and
“ resis

istor. g
:\A/L’-/;

T = )‘V/\/\/\‘ ‘ (//0%6 /9 7>

d. é,llel»c:rcunt with 3 light bulbs and 2 batteries

L

,_’JL_

13. A blender is connected to a 120 Volt circuit and experiences 2 Amperes of current flowing through

it.
a. What is thesistance-of the blender? (/\’0%63 /J 7>
VIR

7@*/0
(Jo= [A)/{f

b. What is the gower usage of e blendeT

P=TV=(1)1a0)“/d W

14. Draw electric field lines below for two objects that have opposite charges.
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Electricity Test Review

16. What is charge polarization? Draw an example of charges being polarized on the
sphere.

mnjej on a nedal oéf’m{ separate,
(/\,m‘@ /9 Q)

17. When pieces of string are attached to a Van de Graff generator and it is turned on, they
stand on end, like in the picture to the right. Explain why this happens.

/’e S)Lf!’j p/céS u{‘ Hne SaMe OAG’? aSsS fhe
\Van cye C—/‘erﬁ and the ke dqqu@ all c’éé

18. Sam has a charge of i?ll_g_and is standing 0.5 meters from Alice who has a charge of -

15pC.

a. How much electrical force do they exert on one another?

pebtis . (w0 )quxof?)}&”X/U =[4.5¢n)

b. Isthe force attractive or repulsive?
q H(‘IC Hu e [0//09 fe c G fjés}
19. A charge of -25uC exerts a force of 75 75 Newtons on a charge of +18uC. How far apart are the two (/Vaffps @3 V

charges?
7 ~ (91(/0 )(r)/j)(/o X/gK/OJ 7 75\/\.):{,/'05-
05 T ———
75 - 5 r? 75 r=0.
P2 o cach §1 ZJ - ﬁemorﬁ -2 [
}_a 0(_’1" ‘+ Nll ‘}’h 7;

20. A 2Q resistor, 6 Q resistor, and a 12Q resistor are all connected in a parallel circuit. What is the
equivalent resistance of the circuit?

o1, -2 5 B 8= 1330
o B R A S i

As
E R 4 N (f///r The £rachron ?ld €7L

f)p a6 1 @p(,l Nome e (>

21. Complete the table of values for the circuit below

1 pamlel
R)? Rz R3p R4l Rg E

Vv | R Electricity Formulas
Total 6\/ 7n"{a4 O’*%/JL F=F(CQI?2 V =IR Re— R+ Rt Rt
- r= sS— M 2 3
R 6V 0674| o0 e =v0x10? YL P =1V 1 1 1 1
Rz % 025A | 240 FeETEEE T Sl R
Q
" F = oF = — RP Ri R, R3
Rs 6V 3A QL =4 v
Rq ]V, 05A | 4|
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